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If it is the X»P Rin; even by other nyauw it should also be w>

OVERVIEW

Our mwn ruled that an >m> 7v is 7105 for all MIVY except MNINWY W3 V)
o>72v. The Xa cites a Xn>>72 regarding eating the 7x¥n of a >M>. The pP"n
maintains that it is 701, X' maintains that it 1s 70K, while 3"'2w" states that
any mMxn» which the 2°n1> accepted (72 »°117), they are more careful in its
observance than a X W°. Initially the X723 has a difficulty reconciling the
Xn»92 with our mwn. According to the p"n all M vw should be 'wa,
according to X" even nwXR v should be 705, and according to 2"aw" it
should depend on whether they were 2117 (to testify truthfully) or not.
mooIn discusses what are the views of the 32w p"n in cases where it is
only 72°n> (in the 77N0) or only P1nX (by the °nd), .

— PITAN NYT 23 HY N 1PINY N3N K2INN KNP NINYT $1WNT PHYS 13939 1IN
The >''1 says that it seems from this X723 that according to the p''n if a
particular law is written in the 770, that alone (even if it was not
established that they observe it), is sufficient to assume that the 2>m> observe it.

mooIn explains how he arrived at this conclusion:
— N9 12 PYNRY 12N NPT 29919 MITANT IN NP NINN VIND N1

Since the X7 did not ask regarding the p''n (as it asked regarding

a'"aw9); ‘let us see, if it is PIIAN, etc. that the o°n> are scrupulous in not testifying
falsely then they should be believed by all mnvw. The X3 did not ask that, because

according to the p"n there is no requirement for the 2°n12 to be PIAX -
— PRNN XY NYNT ©7YY NOY XVIV )5 ON)

And therefore (since the X773 did not bring up the issue of pPinX, for it is
irrelevant according to the p"n), it is obvious to the X923 that the 2°n> were

not P1IR in the observance of 7¥». MooIN immediately explains himself —
— PIOAN IR T PR VIN9

! There should be no difference between 71¥» (which is written in the 7710) and bearing false witness (which
is also written in the 777 0). The 0°n1> should be trusted in both cases.

2 When the X723 was attempting to reconcile the p"n of 7¥» with our mawn of *m> 7v it merely stated that
according to the p"n a °n1d should be w>. It did not ask however that the n1w> of a °n1> for an 7v should
depend on whether the 2°n1> were P to testify truthfully. The reason the X713 did not mention this is
because it is irrelevant; since (N11VW) M7Y is 72°n3 that is sufficient to believe the *n1> 7v.
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The meaning’ of P1mX XY is that it is not known to us whether the o>n1> are
IR in regards to 7¥n —

mooIn explains how he concluded that the X773 assumes that 787 is PIMIR K?:
- 4Nn‘,7 NIND RNN NYINT NINIT D7YY N NIN PINNI NN N8I INYT

For if nx» is pynNy 72902, how did the X9»3 derive that 73°n> alone is
sufficient according to the p''n.

mooIn brings an additional proof that it is obvious to the X773 that 737 is PINR X7:
— PRAN KDY 125093 510950099 $P1 RAPIYNT (v, 91 PIINT KNP 7993 ¥OYUM 199

And so it also® seems from the X773 in the first »ap of 19 noon, where
initially the X3 established the dispute between the ?"n and 3"2w" in a

case of 7712°n> (in the 77In) and PynR 8% (by the o°nd) -
— 730371 NY IR0 12 PYNRY 12991 X230 KNP NN

that according to the ?'"n it is sufficient and according to 2'"'23w9 it is

insufficient. The 8 n3 there continues -
- sﬂ’b Y20 NAIPMND AN NAIP1NHAY NINN 59 )N 7999

And asks; ‘what is this statement by 2"2w" that “every m12% which the o°n1>
were P’ they are very scrupulous in its observance’; instead 1"2wA9

should have said, “if the 2°n> were 1%, etc’. This concludes the citation

from the X3 in 1", MOOIN continues with his proof -
— 1199593510 N2 PRAN DN MNINPTI N2 PINN IN 1D Y19 XDT yIWUN

> When mpoin stated that 0"wi % Xu*w» that PR X2 7¥» he certainly did not mean that we are sure that
PINR X2 (meaning we know they are not observant), for then how can the ?"n rule that *n1> n¥» is NN,

* We know that X*3 7% 72°03 since the X3 did not ask according to the p"n, ‘let us see whether
testifying falsely is PR or not’; proving that PinX is irrelevant (otherwise the X7 would have asked it).
The fact the X711 did not ask it proves to us that that X723 assumed that 7% was not P1X, and nevertheless
*M> nxn is permitted. Therefore an *M3 7v (which is also 72°n3) should be "w> regardless if it is PITX.

> The X3 there asked that (seemingly) both the »"n and 3"2w" agree that *m2 n¥» is NN, so what is their
nponn. The Xan3 answered that their npY2nn is by [other] cases where it is PITnR X2 72903,

® moon offers an additional proof that 781 is PR R, because later (see [Moo1N on] footnote # 20) NwOIN
will reject the previous proof (n"n1).

7 According to this answer, 3"aw1 is stricter than the p"n. According to the "n even 772203 alone is sufficient
(we do not require P1I1X), however according to 3" it is necessary that it is PITX.

¥ The expression "1 2’ 1nmw My 93 indicates that 3"2w is more lenient that the p"n, by saying that as long
as it is PunX that is sufficient (even if it is not 72°n3). However, according to the answer the X7nx gave
previously (that 171712 X2°X PWIR R2Y 72°n2), then 2"awA is stricter than the p"n. Therefore the X3 asks that
if we assume that 3"2w" is stricter, the expression of 1"2w" should have been that if 117 then it is "1
however if it is not p*117 then it is not °37n (even if it is 72°n2). This would show the strictness of 1"2w", as
opposed to the expression of 21 Mx» 73 which indicates that 3"2wA is more lenient. This is the thrust of the
s'Xmx question there.
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It seems from this question that it is unknown to us whether the o°n1>
were POiR in X7 N¥n, since the X7n) stated that 22w+ should have said
=R aN.’

In conclusion: N1®OIN maintains that regarding %7 it is inconclusive whether the o°n1>
were 7¥n M¥n2 3P or not. [This is referred to as 1177 RY.]

nooIN asks:
— 979992 NN N3N N2 PINNRT ONN PrONT INNTT nup

And there is a difficulty; for according to the conclusion of the X7») there
(in 77910 noon) that the difference between the p"n and 1"aw" is in a case

where it is P11R (by the 2°n12) but not written (in the 7710) -
— 237107 1355 NON 9905 NI 12 PYNAY 129 2379 NY NP NanYT

Where according to the ''n it is not 37 (since it is not 772°n2), but 2''3w9

comes to add and be more lenient saying that 712°n> X2 1K is 3. This

concludes the citation from the X732, Md0IN continues with his question -
—NIP NIND 2311 NIT NOY X

From where does the X3 derive that 72°n2 X?2 PYnR is %17 XY according

to the p''n; for'® -
SN $UNT INHNA 12 PYNY 1299 301 NYT 23 HY AN 371 DHINY DANIT I

Since ;12°n> alone is %3772 (according to the ?"n),"" even though :712°n> alone
is not >3 according to 3"'2w", as it seems from the X113 here'?, therefore it
is -

— DNOTNI) 12 PYNY 1297 N 2INNT ROYTYT NTIND NPIN 2NNT 19V U5
Certain that 211 alone is 3 according to the p"n, since 7PN is superior
to 712°n> for 711 alone is %1% even according to A2''a3wW9 who maintains that

72°n2 alone is not 171 (so according to the p"n who maintains 72°n> alone is °177, so
certainly 7P alone is ’J.'m).m

? moown derives this from the expression which the xn3 prefers, namely 12117 oX (regarding 77¥n); this
indicates that concerning 17¥7 it is doubtful whether 1211777 or not, for if it were certain that 7¥n is P1TX then
the question should have been 7°% *¥an 172 °1771 2231, but not 77 *¥an 72 2117 DX.

' o010 will now explain that the assumption should be that 77 PUAX is *37n according to the p"n.

" nooIn premise is that 7% is PUMK &2 and nevertheless it is 1M according to the ", indicating that 72°n2
alone is "3n. This forms the basis of N©0IN question.

"2 The x7m states here (according to 3"awn) regarding nww (which is 72°n> that one may not testify
falsely) that if it is P1nX X2 then an °n3 7v should be 7105 by all n1ww.

Y If we would maintain however that 7¥n is (also) pnR, then N1BOIN has no question, because there is no
proof that the p"n maintains that >3 7°71% 72°n3. This undermines the entire w">.
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mooIN rejects an anticipated solution to this question:
— NY NPIN 2NN RIT NIINY PPN NP NINT XNDMNINT 2) JY GN 9997 PN

And it is awkward to answer, even though that we cannot prove from

the words of the ?''n that 71717 alone is not %3772 (as n1voN just showed) -
— APNY APIN MDY RNNT INIYN) 13 PNV 1390 P11 W1 0PI Yan

Nevertheless we can infer from »'"2w= who is coming to add that apm

alone is sufficient -
— ¥53m1 XY NP XIS4T Y9N0

This implies that according to the »''n, P17 alone is %3777 KY. This answer is a
»m7."> The question remains from where did the Xnx derive according to the p"n that
1 RO TN apn!

N1B0IN answers:
— %3 995t NN NN ONNT KIPONRYT PNY 139299 AN

And it is the view of the >''9 that according to the conclusion of the Xn3
there (in 91), 737 is 772°n9 and also the o°m> were 712 o157 -
— NN KXY NTIND NPINT N9 NP NINN NN Y RNV

So now we can prove from the »'"n himself that 577117 alone is X772 XY -
— PRONY NAXNIT NNN VPITN

Since the ?''n mentioned his view by ;7x» which is P1IRY 573502, this proves
that 777 PINR is X217 K7 -

— ATINY APIN NN KIYT Bn0onY ©pNRY 1YY MmN XINM NTINY NPTN INT
For if the P"n maintains that X172 777m» 7P, then the P"'n should have

mentioned that 2°n> can be trusted for Mwsnw where there is only 7Pt and
no 712°n3. The reason they did not mention 7V NWY is because by fwV AW even though it is
PR, but since it is not 72°n2, the P"n will maintain that it is X377 R5.

" If pymx alone is *37n according to the "0 then 3"2w1 should have just stated that “3ma X2 7702 72203.

B 1tisa P17 because the w"> mentioned previously indicates that the p"n maintains > 7702 PUNKN.
Alternately (see footnote # 14.) 32w could not have just said *3 &2 72°n5 for then we would not have
known that 37 7°7n2 ap1n, therefore he said 2 1w mxn 25 which reaches > 702 Punk and &9 72°02
»17n. [This alternate answer applies even according to the X3p0n of mo0N (see footnote # 27) that the npY?nn
between 1"2w1 and the p"n is whether 72°n2 or PN is greater; thereby invalidating the various w"2.]

'® Even though initially (when the X3 stated that 1712 X2X PUAX X922 72°n3, which was followed by the
question of 71°% >v2 ™ P17 oR), the X713 assumed that 7x¥n was 1P°m7 X2; however, according to the Ripon
that 722 X3°X 72°N5 X922 P11 then 7%7 is PRI 72°n2. This explains the statement of 3"2wA that since 7%7
is PunR there is no need for ;72°n>.

' Tt will be necessary to say that our X3 which assumes that 3 7> 72203 (see Moo previously
[footnote # 4]); it is not because 77¥1 is PN R2Y 72°05 but rather as MooIn will shortly explain.

' The laws of 7v°nw are not explicitly written in the 7770 (as opposed to 7¥»). See “Thinking it over’ # 1.
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We have now concluded that 572°n3 22 P1mX is °17 according to 32w but not according
to the p"n, and that 7¥» is PIAXY 72°N00.

nooIN asks:
— Pxm XaNY 230N NINY D211 7Y N )9 O NN BN

And if you will say; if this is indeed so that 77¥» is PR 72°n2, how did the

X 13 derive that 777I% 7712903 is "1 according to the p''n -
— PRANY N2XND NYNT

Since 713% is 72°n> and PIAN.

Mo0IN answers:
— N IPANNI DININ NN MO NI NITHI W91 NI 99D U

And one can say; that since the P"n did not explicitly state that >n> nx»

is permitted because they were PR in 77%7, rather they gave no reason -
— Y79 DY NYA DAY 179N DYV NINY NAINT DIWN NIN NIYV M1 KYT ynvun

This indicates that the only reason °n> n¥n» is NN is only because it is
masn3, for 72°n> is a known reason to all without requiring an
explanation.”!

nooIN asks:
— 9309 NY AINY DPTN RND NINYT 119 9NN ON)

And if you will say; since 7211 alone is not X371 according to the P''n -
— 5N 12 PYNY 1295 K231 RY DYHINY N29NIT )Y N

From where does the X713 derive that 7971% 572505 is not X°37% according

to 2''2w". nvoIn shows where the 8713 assumes that A"2wa% R399 RS 77709 72°00 -
— 25515 DINN N 79997

1% See the previous answer of the *" (and footnote # 16).

20 Our X3 asks that according to the p"n an *m3 7y should be w3 by all v since it is 72°n2. We have
no indication however that n17ow is P1nR (as the X i asks later regarding 3"2wn that 121 PnR °X). This
question of the X713 is valid only if assume that the p"n maintains that "3 7712 72°n3. However why did
the X3 assume that *17 7°71n2 72°n3 according to the "0 (since 7¥7 is PnRY 72°n3)?! [See footnote # 6.]

*! Everyone is aware that 73» is 72°n2. No one is aware whether 7% is PYnX or not (as evidenced by the
different views in the X2 in 1211 mentioned by n9on previously). The o°»51 did not explain why *n> nxn
nann; they assumed that we would understand that it is because it is 72°n> which is known to all. This
proves that all that is relevant is only that it is 72°n2. However, pinR is irrelevant. See ‘Thinking it over’ #
1.

22 This is the conclusion of the X1 in T that 2"X 72203 %92 PIMR. See Moo previously.

3 nww (testifying truthfully) is 72°n2 (in the 70). If 3"2w" would maintain that >3 7> 72°05 how can
the X3 say regarding nww that if PnR X7 it should be 2109, but it is 72°n3! This proves that our X773
maintains that *371 X7 7717 72°n> according to 3"2wA.
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For the X713 asks according to the 3"2wA regarding mIvw, if it is PR, etc. -
-HNOD1I) 12 PYNRY 1299 231197 19V DD NP NINY 1D%ON 231107 NIYTY NN NNDT

Perhaps 172503 is superior to 7211, for 72°03 is %1 even according to the
»"n (who maintain that °37 XS 772 7pm), so 72°n2 is certainly “17»
according to 3'"'2w" (who maintains that even 32 1n9 apim) 2>

mooin asks an additional question based on the assumption of our X3 that 77177 72200
°171 X7 according to 3"awA.
— 11199352 RION 333 N3N XYT2 PINN 93995 19 7N PYINT NIpONRa T
And furthermore in the conclusion of the X313 in 191, the X723 should
have said that by 72°n> 892 PN there is also a difference between the p"n
and 2"2w" instead of saying 17°°1°2 X2°K 72°n3 XY PnR without saying “»1. For there is an
additional difference between the p"n and 2"aw" (besides 72°n3 X?2 PnX), which is 72°N0
m7n%. And -
— xRy 99199 NI AHINY NISNI $NRUN 5133 TIND N1

Since the X713 did not insert the word °»1, this indicates that 7% 7202

is %1% according to everyone including 3"awn. This contradicts our X123 which
maintains that 2"2w1% *1n K P70 72°02.

N1B0IN answers:
— ©7WAY 1YY XPODNT UMY Y

And one can say; that the X923 is in doubt -
— PRAN R D292 NP NINNR INIYM) 12 PINY 129 199 IN

Whether 3'"2w1 argues with the ''n in a case of P¥AR XY 72702, moon

explains the reason for this doubt is -
— NAIPIMNY IX NAINIY MINN JD 9IRP XY

Since 2"2v1 did not state, ‘every mx» which is 572105 or that the 2°n1> were

SPIMIT AN it, etc. Rather 3"awn omitted the concept of 7213, This indicates that 72103 is
irrelevant, or perhaps 3"2w1 assumed that it was not necessary to mention it since we may
assume ourselves that 72°n2 is X°377 since it is "n% 82377, This is the reason for the doubt
as to the view of 2"2w whether X°377 7°71% 72°n5 or not.

Mmoo responds to an anticipated question:
— 119719991V 19V D917 913919 NIINT ) Yy N

Even though one can argue that we know with a @''> that 77n% n2°n> is

* This question is based on the premise that 7>77% 7ptn is P"'n "3 &2, However if 1% apim is p'n% *1n,
then there is no w"> that 712°n3 should surely be 3"2w1% 1.
* The question is why our X3 assumes that 3"2w15 171 XY 7705 72°03.
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3"2w19 ®°371.2° mooIn explains the 'S -
— DPIN NI NN NN NP NINY NNT

Because since according to the ?''n we know that 712902 is X371 but not

7P, so therefore according to 3"awn that R°3n 779 apIn it goes without saying that
X171 772 72°n2. So why is there a doubt?
—07YNY MY RPODN 991 199N

Nevertheless the X923 is in doubt at to what is the view of 3"2w regarding 72°n3
70, because -
— NYTPA WD Y T Apthm Nsna X3 INOYII 12 PYNY 1299 NnYsT

Perhaps 2°n> is inferior to P according to 3''aw+, since he did not

clearly state that 71> 72003 is (also) X°3mn -
— 11159352 XN ) 129N Y72 PINN DND MNP NY 997

And therefore it is understood why the X723 there (in 1717) did not state

3797392 ROIR 1 772905 K92 PIAN, which would indicate that (according to 3"awA)
X°177 XD 7707 12°00 (as it seems from our X)) -

$IVWH97 INITN) 13 PYNY 139 1D N 1D XPODN PINN NI NAINIT DIVN
Because as we explained, the X3 is in doubt regarding P3N K91 ;73902
whether 2''2w9 argues with the p"n and maintains X°377 X? or not.

SUMMARY

%7 is PRI 72°n3. The P"'n maintains that *377 705 72°02, and 7709 PUNR
17n XY, while 3"awn maintains that °37m P72 PUAK but we are uncertain
regarding 7772 7203,

THINKING IT OVER

1. mooIn proves that 772 PIAR is not p"n% *3n since he did not mention
monw (which is 72 pnR). 2> Mmoo proves that 7R 72°03 is P"'nY 3N
since he did not mention that nIn "M> nNX¥» because it was mmx.”
Seemingly the second proof cancels the first proof. The reason the p"n did
not mention 7Y nY instead of 77¥7 (is not because 7°7I7% PINR is 1M XY, but

%% Therefore we cannot derive anything from the fact the 3"2w1 did not mention 77n% 72°n3 since it is
unnecessary for we can derive it with a ¥"> from the p"n.

7 moon is introducing a new concept here. Even though the p"n assumes that 72°n3 is superior to 7ipm (for
11 TPTINY 72°03 but Y1 XY PTIN? Apin), nevertheless it is possible that 3"awn disagrees with this premise
and maintains that 717 is superior to 712°n> and therefore we cannot infer from the p"n as to the view of
3"aw. See (footnote # 15 and) ‘Thinking it over’ # 2.

* See footnote # 18.

¥ See footnote # 21.
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rather) in order to teach us that >3 771 72012321

2. What is the *'np12mna n720 whether 72°n3 is superior (the opinion of the
P"n), or whether P1TnX s superior (the view of 1"2w1)?

0 See n"m1,(TXA) X"w and 7" # 103,
3! See footnote # 27.
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